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	 1.	¶Hkkjr esa vkèkqfud dkuwu dh lokZfèkd egÙoiw.kZ miyfCèk loksZPp U;k;ky; }kjk i;kZoj.kh; leL;kvksa dk lafoèkkuhdj.k 

gSA¸ lqlaxr okn fofèk;ksa dh lgk;rk ls bl dFku dh foospuk dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  "The most significant achievement of modern law in India is the constitutionalization of environmental 
problems by the Supreme Court." Discuss this statement with the help of relevant case laws.

� (Answer in 150 words)
	 2.	¶Hkkjr ds laiw.kZ {ks=k esa fuokl djus vkSj fopj.k djus dk vfèkdkj Lora=k :i ls lHkh Hkkjrh; ukxfjdksa dks 

miyCèk gS] fdarq ;s vfèkdkj vlhe ugha gSaA¸ fVIi.kh dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  "Right of movement and residence throughout the territory of India are freely available to the Indian citizens, 
but these rights are not absolute." Comment.� (Answer in 150 words)

	 3.	vkidh jk; esa] Hkkjr esa 'kfDr ds fodsanzhdj.k us ”kehuh&Lrj ij 'kklu&ifjn`'; dks fdl lhek rd ifjofrZr fd;k gS\

� (150 'kCnksa esa mÙkj nhft;s)

 		  To what extent, in your opinion, has the decentralisation of power in India changed the governance landscape 
at the grassroots? � (Answer in 150 words)

	 4.	jkT;lHkk ds lHkkifr ds :i esa Hkkjr ds mi&jk"Vªifr dh Hkwfedk dh foospuk dhft;sA	

� (150 'kCnksa esa mÙkj nhft;s)

 		  Discuss the role of the Vice-President of India as the Chairman of the Rajya Sabha.
� (Answer in 150 words)
	 5.	jk"Vªh; fiNM+k oxZ vk;ksx ds lkafofèkd fudk; ls laoSèkkfud fudk; esa :ikarj.k dks è;ku esa j[krs gq, bldh 

Hkwfedk dh foospuk dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Discuss the role of the National Commission for Backward Classes in the wake of its transformation from 
a statutory body to a constitutional body.� (Answer in 150 words)

	 6.	xfr&'kfDr ;kstuk dks la;kstdrk ds y{; dks izkIr djus ds fy;s ljdkj vkSj futh {ks=k ds eè; lrdZ leUo; dh 

vko';drk gSA foospuk dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  The Gati-Shakti Yojana needs meticulous co-ordination between the government and the private sector to 
achieve the goal of connectivity. Discuss.� (Answer in 150 words)

	 7.	fnO;kaxrk ds lanHkZ esa ljdkjh inkfèkdkfj;ksa vkSj ukxfjdksa dh xgu laosnu'khyrk ds fcuk fnO;kaxtu vfèkdkj vfèkfu;e] 

2016 dsoy fofèkd nLrkos”k cudj jg tkrk gSA fVIi.kh dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  The Rights of Persons with Disabilities Act, 2016 remains only a legal document without intense sensitisation 
of government functionaries and citizens regarding disability. Comment. � (Answer in 150 words)

	 8.	izR;{k ykHk varj.k ;kstuk ds ekè;e ls ljdkjh izns; O;oLFkk esa lqèkkj ,d izxfr'khy dne gS] fdarq bldh viuh 

lhek,¡ Hkh gSaA fVIi.kh dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Reforming the government delivery system through the Direct Benefit Transfer Scheme is a progressive 
step, but it has its limitations too. Comment.� (Answer in 150 words)

	 9.	^Hkkjr Jhyadk dk cjlksa iqjkuk fe=k gSA* iwoZorhZ dFku ds vkyksd esa Jhyadk ds orZeku ladV esa Hkkjr dh Hkwfedk 

dh foospuk dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  ‘India is an age-old friend of Sri Lanka.’ Discuss India's role in the recent crisis in Sri Lanka in the light of 
the preceding statement. � (Answer in 150 words)
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	10.	vkids fopkj esa D;k fceLVsd (BIMSTEC) lkdZ (SAARC) dh rjg ,d lekukarj laxBu gS\ bu nksuksa ds chp 
D;k lekurk,¡ vkSj vlekurk,¡ gSa\ bl u, laxBu ds cuk, tkus ls Hkkjrh; fons'k uhfr ds mn~ns'; dSls izkIr gq, 
gSa\� (150 'kCnksa esa mÙkj nhft;s)

 		  Do you think that BIMSTEC is a parallel organisation like the SAARC? What are the similarities and 
dissimilarities between the two? How are Indian foreign policy objectives realized by forming this new 
organisation?� (Answer in 150 words)

	11.	yksd izfrfufèkRo vfèkfu;e] 1951 ds varxZr laln vFkok jkT; foèkkf;dk ds lnL;ksa ds pquko ls mHkjs fooknksa ds 
fu.kZ; dh izfØ;k dk foospu dhft;sA fdu vkèkkjksa ij fdlh fuokZfpr ?kksf"kr izR;k'kh ds fuokZpu dks 'kwU; ?kksf"kr 
fd;k tk ldrk gS\ bl fu.kZ; ds fo#¼ ihfM+r i{k dks dkSu&lk mipkj miyCèk gS\ okn fofèk;ksa dk lanHkZ nhft;sA	
� (250 'kCnksa esa mÙkj nhft;s)

 		  Discuss the procedures to decide the disputes arising out of the election of a Member of the Parliament or 
State Legislature under The Representation of the People Act, 1951. What are the grounds on which the 
election of any returned candidate may be declared void? What remedy is available to the aggrieved party 
against the decision? Refer to the case laws.� (Answer in 250 words)

	12.	jkT;iky }kjk foèkk;h 'kfDr;ksa ds iz;ksx dh vko';d 'krks± dk foospu dhft;sA foèkkf;dk ds le{k j[ks fcuk 
jkT;iky }kjk vè;kns'kksa ds iqu% iz[;kiu dh oSèkrk dh foospuk dhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  Discuss the essential conditions for exercise of the legislative powers by the Governor. Discuss the legality 
of re-promulgation of ordinances by the Governor without placing them before the Legislature. 

� (Answer in 250 words)
	13.	¶Hkkjr esa jk"Vªh; jktuSfrd ny dsanzhdj.k ds i{k esa gSa] tcfd {ks=kh; ny jkT;&Lok;Ùkrk ds i{k esaA¸ fVIi.kh 

dhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  "While the national political parties in India favour centralisation, the regional parties are in favour of State 
autonomy." Comment.� (Answer in 250 words)

	14.	Hkkjr vkSj Úk¡l ds jk"Vªifr ds fuokZfpr gksus dh izfØ;k dk vkykspukRed ijh{k.k dhft;sA	
� (250 'kCnksa esa mÙkj nhft;s)

 		  Critically examine the procedures through which the Presidents of India and France are elected.
� (Answer in 250 words)
	15.	vkn'kZ vkpkj&lafgrk ds mn~Hko ds vkyksd esa] Hkkjr ds fuokZpu vk;ksx dh Hkwfedk dk foospu dhft;sA	

� (250 'kCnksa esa mÙkj nhft;s)

 		  Discuss the role of the Election Commission of India in the light of the evolution of the Model Code of 
Conduct.� (Answer in 250 words)

	16.	dY;k.kdkjh ;kstukvksa ds vfrfjDr Hkkjr dks lekt ds oafpr oxks± vkSj xjhcksa dh lsok ds fy;s eqnzkLiQhfr vkSj csjkstxkjh 
ds dq'ky izcaèku dh vko';drk gSA ppkZ dhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  Besides the welfare schemes, India needs deft management of inflation and unemployment to serve the 
poor and the underprivileged sections of the society. Discuss.� (Answer in 250 words)

	17.	D;k vki bl er ls lger gSa fd fodkl gsrq nkrk vfHkdj.kksa ij c<+rh fuHkZjrk fodkl izfØ;k esa lkeqnkf;d Hkkxhnkjh 
ds egÙo dks ?kVkrh gS\ vius mÙkj ds vkSfpR; dks fl¼ dhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  Do you agree with the view that increasing dependence on donor agencies for development reduces the 
importance of community participation in the development process? Justify your answer.

� (Answer in 250 words)
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	18.	Ldwyh f'k{kk ds egÙo ds ckjs esa tkx:drk mRiUu fd;s fcuk] cPPkksa dh f'k{kk esa izsj.kk&vkèkkfjr i¼fr ds lao¼Zu 
esa fu%'kqYd vkSj vfuok;Z cky f'k{kk dk vfèkdkj vfèkfu;e] 2009 vi;kZIr gSA fo'ys"k.k dhft;sA	
� (250 'kCnksa esa mÙkj nhft;s)

 		  The Right of Children to Free and Compulsory Education Act, 2009 remains inadequate in promoting 
incentive-based system for children's education without generating awareness about the importance of 
schooling. Analyse.� (Answer in 250 words)

	19.	I2U2 (Hkkjr] b”kjk;y] la;qDr vjc vehjkr vkSj la;qDr jkT; vesfjdk) lewgu oSf'od jktuhfr esa Hkkjr dh 
fLFkfr dks fdl izdkj :ikarfjr djsxk\ � (250 'kCnksa esa mÙkj nhft;s)

 		  How will I2U2 (India, Israel, UAE and USA) grouping transform India's position in global politics? 
� (Answer in 250 words)
	20.	^LoPN ÅtkZ vkt dh ”k:jr gSA* Hkw&jktuhfr ds lanHkZ esa] fofHkUu varjkZ"Vªh; eapksa esa tyok;q ifjorZu dh fn'kk esa 

Hkkjr dh cnyrh uhfr dk laf{kIr o.kZu dhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  'Clean energy is the order of the day.' Describe briefly India's changing policy towards climate change in 
various international fora in the context of geopolitics.� (Answer in 250 words)


